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UNIT 4 ( LESSON 6
Do Now: Describe the “ski bird’s” slope as positive, negative, zero, or no slope.
| | i |
¥ ES T |
% ! rs [
| ' | N ] : |
R b
| p . | v 1 7
i “ “:‘\\,‘; # “ 4,‘1/‘” » ! 4——-—;"‘ e x . —
[ ,;- = | ! IS ‘- /
| E [ 3 4
: ' A
| | A e —
{ v
v

b DOCITWE  oNOD.S\Oe ¢ 281D

Whdo¥Fingel .
CATTER PLOTS

Nl ahive

INOT

hY

{ DO COO0CCH UATM: INTRO TO S
SCATTER PLOT /)

B !

r'd
/
L=

ﬁm-)h o€ plitted poinil that showsS a celanondhip

DETWPEN Se1S ofF data. Scatier i

O1S At (pnnN ROS ed. of Aot

NEAcUT S Ahe Yctrenglh

Ve

CORRELATION RELATIONSHIP a0 /J ‘.f’!;fi'(lf'll 107

. _ J
of 1he relahmniinip beluweon twWoe vanables.

In many real-life situations, scatter plots follow patterns that are approximately linear.

If y tends to increase as x increases, then the paired data are saidtobea DOSI 0 C (O () ah ON

If y tends to decrease as x increases, the paired data are said to be a
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If the points show no linear pattern, the paired data are said to have () o 01100

Directions: Identify the three types of correlation each scatterplot shows and write a conclusion for each.
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4. Given the scatter plot below determine the following.
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5. Given the scatter plot below determine the following.
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6. Given the scatter plot below determine the following.
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7. Which situation describes a negative correlation?

@the amount of gas left in a car's tank and the amount of gas used from it
2) the number of gallons of gas purchased and the amount paid for the gas
3) the size of a car's gas tank and the number of gallons it holds

4) the number of miles driven and the amount of gas used




8. A positive correlation always exists on a scatter plot when

1) yremains unchanged as x increases
2) ychanges randomly as x increases

3) ydecreases as x increases

y increases as x increases

9. The scatter plot below represents the relationship between the number of peanuts a student eats and the student's

bowling score. Which conclusion about the scatter plot is valid? A
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10. Which scatter plot shows the relationship between x and y if x represents a student score on a test and y
represents the number of incorrect answers a student received on the same test?
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